

# SUMS OF GENERALIZED FIBONACCI NUMBERS

ZVONKO ČERIN AND GIAN MARIO GIANELLA

ABSTRACT. In this paper we first give formulae for sums of a fixed number of consecutive generalized Fibonacci numbers from the same residue class. Analogous alternating sums are also studied as well as various derived sums when terms are multiplied by binomial coefficients or members of some simple integer sequences.

## 1. Introduction

The generalized Fibonacci sequence  $\{w_n\} = \{w_n(a, b; p, q)\}$  is often defined by

$$w_0 = a, \quad w_1 = b, \quad w_n = p w_{n-1} - q w_{n-2} \quad (n \geq 2),$$

where  $a, b, p$  and  $q$  are arbitrary complex numbers, with  $q \neq 0$ . The numbers  $w_n$  have been studied by Horadam (see, e. g. [3]). A useful and interesting special cases are  $\{U_n\} = \{w_n(0, 1; p, q)\}$  and  $\{V_n\} = \{w_n(2, p; p, q)\}$  that were investigated by Lucas [5].

## 2. Sums of generalized Fibonacci numbers

We first want to find the formula for the sum  $\sum_{i=0}^n w_{r+ti}(a, b; p, q)$  when  $n \geq 0, r \geq 0$  and  $t > 0$  are integers.

Let  $\alpha$  and  $\beta$  be the roots of  $x^2 - px + q = 0$ . Then  $\alpha = \frac{p+\Delta}{2}$  and  $\beta = \frac{p-\Delta}{2}$ , where  $\Delta = \sqrt{p^2 - 4q}$ . Moreover,  $\alpha - \beta = \Delta$ ,  $\alpha + \beta = p$ ,  $\alpha\beta = q$  and the Binet forms of  $w_n, U_n$  and  $V_n$  are

$$w_n = \frac{(b - a\beta)\alpha^n + (a\alpha - b)\beta^n}{\alpha - \beta}, \quad U_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad V_n = \alpha^n + \beta^n,$$

if  $\alpha \neq \beta$ , and

$$w_n = \tilde{w}_n = \alpha^{n-1}(a + n(b - a\alpha)), \quad U_n = \tilde{U}_n = n\alpha^{n-1}, \quad V_n = \tilde{V}_n = 2\alpha^n,$$

if  $\alpha = \beta$ .

Let  $\gamma = b - a\alpha$  and  $\delta = b - a\beta$ . For any integer  $k$ , let  $A_k = \alpha^k - 1$  and  $B_k = \beta^k - 1$ . Let  $\Psi_1 = \sum_{i=0}^n w_{r+ti}(a, b; p, q)$ .

---

AMS 2000 Math. Subject Classification: Primary 11B39, 11Y55, 05A19.

KEY WORDS AND PHRASES. generalized Fibonacci numbers, integer sequences, sum, alternating sum, binomials, Maple V.

**Theorem 1.** (a) When  $\Delta = 0$  and  $A_t = 0$ , then

$$\Psi_1 = \frac{\alpha^{r-1} (n+1) [2(r\gamma + a\alpha) + tn\gamma]}{2}.$$

(b) When  $\Delta = 0$  and  $A_t \neq 0$ , then the sum  $\Psi_1$  is

$$\frac{\alpha^{r-1} [A_{t(n+1)}(((tn+r)\gamma + a\alpha)A_t + tn\gamma) - t(n+1)\gamma\alpha^t A_{tn}]}{A_t^2}.$$

(c) When  $\Delta \neq 0$  and  $A_t = 0$  and  $B_t = 0$ , then

$$\Psi_1 = \frac{(n+1)(\delta\alpha^r - \gamma\beta^r)}{\Delta}.$$

(d) When  $\Delta \neq 0$ ,  $A_t = 0$  and  $B_t \neq 0$ , then

$$\Psi_1 = \frac{\alpha^r (n+1)\delta}{\Delta} - \frac{\beta^r \gamma B_{t(n+1)}}{\Delta B_t}.$$

(e) When  $\Delta \neq 0$ ,  $A_t \neq 0$  and  $B_t = 0$ , then

$$\Psi_1 = \frac{\alpha^r \delta A_{t(n+1)}}{\Delta A_t} - \frac{\beta^r (n+1)\gamma}{\Delta}.$$

(f) When  $\Delta \neq 0$ ,  $A_t \neq 0$  and  $B_t \neq 0$ , then

$$\Psi_1 = \frac{\alpha^r A_{t(n+1)} \delta}{\Delta A_t} - \frac{\beta^r B_{t(n+1)} \gamma}{\Delta B_t}.$$

Note that  $\alpha^n = \frac{V_n + \Delta U_n}{2}$  and  $\beta^n = \frac{V_n - \Delta U_n}{2}$  for  $\Delta \neq 0$  and  $\alpha^n = \beta^n = \frac{\tilde{U}_{n+1}}{n+1} = \frac{\tilde{V}_n}{2}$  for  $\Delta = 0$ . Hence, it is clear that each of the above expressions for the sum  $\Psi_1$  could be transformed into an expression in Lucas numbers  $U_n$  and  $V_n$  (or  $\tilde{U}_n$  and  $\tilde{V}_n$ ). In most cases these formulae are more complicated than the ones given above. This applies also to other sums that we consider in this paper.

We shall now prove only parts (a) and (f) of Theorem 1. The proofs of the other parts are similar. This style of proving only few cases from a large number will be retained in the rest of the paper. The proofs are mostly by induction so that the main problem was to discover the formulae which we did with the help from magic possibilities of experimentation in Maple V.

*Proof of (a).* The proof will be by induction on  $n$ .

For  $\alpha^t = 1$  and  $n = 0$ , the sum  $\Psi_1$  is  $a\alpha^r(1-r) + \alpha^{r-1}rb$  while the right hand side is  $\frac{\alpha^{r-1}(2r(b-a\alpha) + 2a\alpha)}{2}$ . In other words, for the initial value of  $n$  the relation (a) holds.

Assume that (a) is true for  $n = m$ . Then

$$\begin{aligned} \sum_{i=0}^{m+1} \tilde{w}_{r+ti} &= \sum_{i=0}^m \tilde{w}_{r+ti} + \tilde{w}_{r+t(m+1)} = \\ &= \frac{\alpha^{r-1} (m+1) [2(r\gamma + a\alpha) + tm\gamma]}{2} + \alpha^{r-1} [(m+1)\gamma t + (r\gamma + a\alpha)] \\ &= \frac{\alpha^{r-1} (m+2) [2(r\gamma + a\alpha) + t(m+1)\gamma]}{2}. \end{aligned}$$

Hence, the relation (a) holds also for  $n = m + 1$ .  $\square$

*Proof of (f).* The proof will again be by induction on  $n$ .

For  $n = 0$ , the sum  $\Psi_1$  is  $\frac{\alpha^r \delta - \beta^r \gamma}{\Delta}$  while the right hand side clearly has the same value. Hence, for the initial value of  $n$  the relation (f) holds.

Assume that (f) is true for  $n = m$ . Then

$$\begin{aligned} \sum_{i=0}^{m+1} w_{r+ti} &= \left( \sum_{i=0}^m w_{r+ti} \right) + w_{r+t(m+1)} = \\ &= \left( \frac{\alpha^r A_{t(m+1)} \delta}{\Delta A_t} - \frac{\beta^r B_{t(m+1)} \gamma}{\Delta B_t} \right) + \left( \frac{\alpha^r \delta \alpha^{t(m+1)}}{\Delta} - \frac{\beta^r \gamma \beta^{t(m+1)}}{\Delta} \right) \\ &= \frac{\alpha^r A_{t(m+2)} \delta}{\Delta A_t} - \frac{\beta^r B_{t(m+2)} \gamma}{\Delta B_t}. \end{aligned}$$

Hence, the relation (f) holds also for  $n = m + 1$ .  $\square$

Of course, it is clear that Theorem 1 includes many interesting sums for all kinds of integer sequences. In particular, it is related to the results in the articles [1] and [2]. Recall that sequences of Fibonacci ( $F_n$ ), Lucas ( $L_n$ ), Pell ( $P_n$ ), Pell-Lucas ( $Q_n$ ), Jacobsthal ( $J_n$ ), Jacobsthal-Lucas ( $j_n$ ) listed respectively as A000045, A00032, A000129, A002203, A001045, A014551 in [7] are  $w_n(0, 1; 1, -1)$ ,  $w_n(2, 1; 1, -1)$ ,  $w_n(0, 2; 2, -1)$ ,  $w_n(2, 2; 2, -1)$ ,  $w_n(0, 1; 1, -2)$ ,  $w_n(2, 1; 1, -2)$  for  $n \geq 0$ .

### 3. The alternating sum and its generalization

For any integer  $k$ , let  $\ell_k = (-1)^k$ ,  $C_k = \alpha^k + 1$  and  $D_k = \beta^k + 1$ . Let  $\Psi_2$  denote the sum  $\sum_{i=0}^n \ell_i w_{r+ti}(a, b; p, q)$ . By  $\Psi_1^{(a)}$  we mean the sum  $\Psi_1$  in the subcase (a) of the theorem where this sum is studied. The similar notation is used throughout.

**Theorem 2.** (a) When  $\Delta = 0$  and  $C_t = 0$ , then  $\Psi_2 = \Psi_1^{(a)}$ .  
 (b) When  $\Delta = 0$  and  $C_t \neq 0$ , then the sum  $\Psi_2$  is

$$\frac{\alpha^{r-1} [\ell_n C_{t(n+1)} ((t n + r) \gamma + a \alpha) C_t + t \gamma] + (r \gamma + a \alpha) C_t - t \gamma}{C_t^2}.$$

(c) When  $\Delta \neq 0$  and  $C_t = 0$  and  $D_t = 0$ , then  $\Psi_2 = \Psi_1^{(c)}$ .  
 (d) When  $\Delta \neq 0$ ,  $C_t = 0$  and  $D_t \neq 0$ , then

$$\Psi_2 = \frac{\alpha^r (n+1) \delta}{\Delta} - \frac{\beta^r \gamma (\ell_n \beta^{t(n+1)} + 1)}{\Delta D_t}.$$

(e) When  $\Delta \neq 0$ ,  $C_t \neq 0$  and  $D_t = 0$ , then

$$\Psi_2 = \frac{\alpha^r \delta (\ell_n \alpha^{t(n+1)} + 1)}{\Delta C_t} - \frac{\beta^r (n+1) \gamma}{\Delta}.$$

(f) When  $\Delta \neq 0$ ,  $C_t \neq 0$  and  $D_t \neq 0$ , then

$$\Psi_2 = \frac{\alpha^r (1 + \ell_n \alpha^{t(n+1)}) \delta}{\Delta C_t} - \frac{\beta^r (1 + \ell_n \beta^{t(n+1)}) \gamma}{\Delta D_t}.$$

*Proof of (f).* The proof will again be by induction on  $n$ .

For  $n = 0$ , the sum  $\Psi_2$  is  $\frac{\alpha^r \delta - \beta^r \gamma}{\Delta}$  while the right hand side clearly has the same value. Hence, for the initial value of  $n$  the relation (f) holds.

Assume that (f) is true for  $n = m$ . Then

$$\begin{aligned} \sum_{i=0}^{m+1} \ell_i w_{r+ti} &= \left( \sum_{i=0}^m \ell_i w_{r+ti} \right) + \ell_{m+1} w_{r+t(m+1)} = \\ &= \left( \frac{\alpha^r (1 + \ell_m \alpha^{t(m+1)}) \delta}{\Delta C_t} - \frac{\beta^r (1 + \ell_m \beta^{t(m+1)}) \gamma}{\Delta D_t} \right) \\ &\quad + \ell_{m+1} \left( \frac{\alpha^r \delta \alpha^{t(m+1)}}{\Delta} - \frac{\beta^r \gamma \beta^{t(m+1)}}{\Delta} \right) \\ &= \frac{\alpha^r (1 + \ell_{m+1} \alpha^{t(m+2)}) \delta}{\Delta C_t} - \frac{\beta^r (1 + \ell_{m+1} \beta^{t(m+2)}) \gamma}{\Delta D_t}. \end{aligned}$$

Hence, the relation (f) holds also for  $n = m + 1$ .  $\square$

An obvious generalization of the sum  $\Psi_2$  is the following sum  $\Psi_3$  defined as  $\sum_{i=0}^n k^i w_{r+ti}(a, b; p, q)$ , for any complex number  $k$ . Let  $E_t = \alpha^t k - 1$  and  $F_t = \beta^t k - 1$ .

**Theorem 3.** (a) When  $\Delta = 0$  and  $E_t = 0$ , then  $\Psi_3 = \Psi_1^{(a)}$ .  
 (b) When  $\Delta = 0$  and  $E_t \neq 0$ , then  $\Psi_3$  is

$$\frac{\alpha^{r-1} [(E_t((r+tn)\gamma + a\alpha) - t\gamma)(\alpha^t k)^{n+1} - E_t((r-t)\gamma + a\alpha) + t\gamma]}{E_t^2}.$$

(c) When  $\Delta \neq 0$  and  $E_t = 0$  and  $F_t = 0$ , then  $\Psi_3 = \Psi_1^{(c)}$ .  
 (d) When  $\Delta \neq 0$ ,  $E_t = 0$  and  $F_t \neq 0$ , then

$$\Psi_3 = \frac{\alpha^r (n+1)\delta}{\Delta} - \frac{\beta^r \gamma ((\beta^t k)^{n+1} - 1)}{\Delta F_t}.$$

(e) When  $\Delta \neq 0$ ,  $E_t \neq 0$  and  $F_t = 0$ , then

$$\Psi_3 = \frac{\alpha^r \delta ((\alpha^t k)^{n+1} - 1)}{\Delta E_t} - \frac{\beta^r (n+1)\gamma}{\Delta}.$$

(f) When  $\Delta \neq 0$ ,  $E_t \neq 0$  and  $F_t \neq 0$ , then

$$\Psi_3 = \frac{\alpha^r ((\alpha^t k)^{n+1} - 1) \delta}{\Delta E_t} - \frac{\beta^r ((\beta^t k)^{n+1} - 1) \gamma}{\Delta F_t}.$$

*Proof of (f).* The proof will again be by induction on  $n$ .

For  $n = 0$ , the sum  $\Psi_3$  is  $\frac{\alpha^r \delta - \beta^r \gamma}{\Delta}$  while the right hand side clearly has the same value. Hence, for the initial value of  $n$  the relation (f) holds.

Assume that (f) is true for  $n = m$ . Then

$$\begin{aligned} \sum_{i=0}^{m+1} k^i w_{r+ti} &= \left( \sum_{i=0}^m k^i w_{r+ti} \right) + k^{m+1} w_{r+t(m+1)} = \\ &= \left( \frac{\alpha^r ((\alpha^t k)^{m+1} - 1) \delta}{\Delta E_t} - \frac{\beta^r ((\beta^t k)^{m+1} - 1) \gamma}{\Delta F_t} \right) \\ &\quad + k^{m+1} \left( \frac{\alpha^r \delta \alpha^{t(m+1)}}{\Delta} - \frac{\beta^r \gamma \beta^{t(m+1)}}{\Delta} \right) \\ &= \frac{\alpha^r ((\alpha^t k)^{m+2} - 1) \delta}{\Delta E_t} - \frac{\beta^r ((\beta^t k)^{m+2} - 1) \gamma}{\Delta F_t}. \end{aligned}$$

Hence, the relation (f) holds also for  $n = m + 1$ .  $\square$

#### 4. Sum with binomial coefficients

Let  $\Psi_4$  denote the sum  $\sum_{i=0}^n \binom{n}{i} w_{r+ti}(a, b; p, q)$ .

**Theorem 4.** (a) When  $\Delta = 0$ , then

$$\Psi_4 = \begin{cases} \alpha^{r-1} [r\gamma + a\alpha], & \text{if } n = 0, \\ \alpha^{r-1} [C_t(r\gamma + a\alpha) + t\alpha^t\gamma], & \text{if } n = 1, \\ \alpha^{r-1} C_t^{n-1} [C_t(r\gamma + a\alpha) + tn\alpha^t\gamma], & \text{if } n \geq 2. \end{cases}$$

(b) When  $\Delta \neq 0$ , then

$$\Psi_4 = \frac{\alpha^r \delta C_t^n - \beta^r \gamma D_t^n}{\Delta}.$$

*Proof of (b).* Since  $w_{r+ti}(a, b; p, q) = \frac{\delta \alpha^r (\alpha^t)^i - \gamma \beta^r (\beta^t)^i}{\Delta}$ , we have

$$\begin{aligned} \sum_{i=0}^n \binom{n}{i} w_{r+ti}(a, b; p, q) &= \\ \frac{\delta \alpha^r}{\Delta} \left( \sum_{i=0}^n \binom{n}{i} (\alpha^t)^i \right) - \frac{\gamma \beta^r}{\Delta} \left( \sum_{i=0}^n \binom{n}{i} (\beta^t)^i \right) &= \\ = \frac{\delta \alpha^r}{\Delta} (\alpha^t + 1)^n - \frac{\gamma \beta^r}{\Delta} (\beta^t + 1)^n = \frac{\alpha^r \delta C_t^n - \beta^r \gamma D_t^n}{\Delta}. \end{aligned}$$

□

## 5. The alternating sum with binomial coefficients

Let  $\Psi_5$  denote the sum  $\sum_{i=0}^n \ell_i \binom{n}{i} w_{r+ti}(a, b; p, q)$ .

**Theorem 5.** (a) When  $\Delta = 0$ , then

$$\Psi_5 = \begin{cases} \alpha^{r-1} [r\gamma + a\alpha], & \text{if } n = 0, \\ -\alpha^{r-1} [A_t(r\gamma + a\alpha) + t\alpha^t\gamma], & \text{if } n = 1, \\ \ell_n \alpha^{r-1} A_t^{n-1} [A_t(r\gamma + a\alpha) + tn\alpha^t\gamma], & \text{if } n \geq 2. \end{cases}$$

(b) When  $\Delta \neq 0$ , then

$$\Psi_5 = \frac{\ell_n [\alpha^r \delta A_t^n - \beta^r \gamma B_t^n]}{\Delta}.$$

Let  $\Psi_6$  denote the sum  $\sum_{i=0}^n k^i \binom{n}{i} w_{r+ti}(a, b; p, q)$  for any complex number  $k$ . Let  $G_t = \alpha^t k + 1$  and  $H_t = \beta^t k + 1$ .

**Theorem 6.** (a) When  $\Delta = 0$ , then

$$\Psi_6 = \begin{cases} \alpha^{r-1} [r\gamma + a\alpha], & \text{if } n = 0, \\ \alpha^{r-1} [G_t(r\gamma + a\alpha) + \alpha^t k t \gamma], & \text{if } n = 1, \\ \alpha^{r-1} G_t^{n-1} [G_t(r\gamma + a\alpha) + n\alpha^t k t \gamma], & \text{if } n \geq 2. \end{cases}$$

(b) When  $\Delta \neq 0$ , then

$$\Psi_6 = \frac{\alpha^r \delta G_t^n - \beta^r \gamma H_t^n}{\Delta}.$$

### 6. Terms multiplied by natural numbers

Let  $\Psi_7$  denote the sum  $\sum_{i=0}^n (i+1)w_{r+ti}(a, b; p, q)$ .

**Theorem 7.** (a) When  $\Delta = 0$  and  $A_t = 0$ , then

$$\Psi_7 = \frac{\alpha^{r-1}(n+2)(n+1)(3(r\gamma + a\alpha) + 2n\gamma t)}{6}.$$

(b) When  $\Delta = 0$  and  $A_t \neq 0$ , then  $\Psi_7 = \frac{\alpha^{r-1}(\alpha^{t(n+1)}M+N)}{A_t^3}$ , with

$$N = ((r-2t)\gamma + a\alpha)A_t - 2\gamma t,$$

$$M = (n+1)((tn+r)\gamma + a\alpha)A_t^2 - ((2tn+r)\gamma + a\alpha)A_t + 2t\gamma.$$

(c) When  $\Delta \neq 0$  and  $A_t = 0$  and  $B_t = 0$ , then

$$\Psi_7 = \frac{(n+1)(n+2)(\delta\alpha^r - \gamma\beta^r)}{2\Delta}.$$

(d) When  $\Delta \neq 0$ ,  $A_t = 0$  and  $B_t \neq 0$ , then

$$\Psi_7 = \frac{\alpha^r(n+1)(n+2)\delta}{2\Delta} - \frac{\beta^r\gamma((n+1)B_{t(n+2)} - (n+2)B_{t(n+1)})}{\Delta B_t^2}.$$

(e) When  $\Delta \neq 0$ ,  $A_t \neq 0$  and  $B_t = 0$ , then

$$\Psi_7 = \frac{\alpha^r\delta((n+1)A_{t(n+2)} - (n+2)A_{t(n+1)})}{\Delta A_t^2} - \frac{\beta^r(n+1)(n+2)\gamma}{2\Delta}.$$

(f) When  $\Delta \neq 0$ ,  $A_t \neq 0$  and  $B_t \neq 0$ , then  $\Psi_7 = M(n) - N(n)$ , where

$$M(n) = \frac{\alpha^r((n+1)A_{t(n+2)} - (n+2)A_{t(n+1)})\delta}{\Delta A_t^2},$$

$$N(n) = \frac{\beta^r((n+1)B_{t(n+2)} - (n+2)B_{t(n+1)})\gamma}{\Delta B_t^2}.$$

*Proof of (f).* The proof will again be by induction on  $n$ .

For  $n = 0$ , the sum  $\Psi_7$  is  $\frac{\alpha^r\delta - \beta^r\gamma}{\Delta}$  while the right hand side clearly has the same value because  $A_{2t} - 2A_t = A_t^2$  and  $B_{2t} - 2B_t = B_t^2$ . Hence, for the initial value of  $n$  the relation (f) holds.

Assume that (f) is true for  $n = m$ . Then

$$\begin{aligned} \sum_{i=0}^{m+1} (i+1) w_{r+ti} &= \left( \sum_{i=0}^m (i+1) w_{r+ti} \right) + (m+2) w_{r+t(m+1)} \\ &= (M(m) - N(m)) + (m+2) \left( \frac{\alpha^r \delta \alpha^{t(m+1)}}{\Delta} - \frac{\beta^r \gamma \beta^{t(m+1)}}{\Delta} \right) \\ &= M(m+1) - N(m+1). \end{aligned}$$

Hence, the relation (f) holds also for  $n = m + 1$ .  $\square$

## 7. Alternating terms multiplied by natural numbers

Let  $\Psi_8$  denote the sum  $\sum_{i=0}^n (-1)^i (i+1) w_{r+ti}(a, b; p, q)$ .

**Theorem 8.** (a) When  $\Delta = 0$  and  $C_t = 0$ , then  $\Psi_8 = \Psi_7^{(a)}$ .

(b) When  $\Delta = 0$  and  $C_t \neq 0$ , then  $\Psi_8 = \frac{\alpha^{r-1} (\ell_n \alpha^{t(n+1)} M + N)}{C_t^3}$ , with

$$N = C_t(r\gamma + a\alpha) - 2(C_t - 1)t,$$

$$M = C_t((n+1)C_t + 1)(r\gamma + a\alpha) + (n(n+1)C_t^2 + 2nC_t + 2)t.$$

(c) When  $\Delta \neq 0$  and  $C_t = 0$  and  $D_t = 0$ , then  $\Psi_8 = \Psi_7^{(c)}$ .

(d) When  $\Delta \neq 0$ ,  $C_t = 0$  and  $D_t \neq 0$ , then

$$\Psi_8 = \frac{\alpha^r (n+1)(n+2)\delta}{2\Delta} - \frac{\beta^r \gamma (\ell_n \beta^{t(n+1)} ((n+1)D_t + 1) + 1)}{\Delta D_t^2}.$$

(e) When  $\Delta \neq 0$ ,  $C_t \neq 0$  and  $D_t = 0$ , then

$$\Psi_8 = \frac{\alpha^r \delta (\ell_n \alpha^{t(n+1)} ((n+1)C_t + 1) + 1)}{\Delta C_t^2} - \frac{\beta^r (n+1)(n+2)\gamma}{2\Delta}.$$

(f) When  $\Delta \neq 0$ ,  $C_t \neq 0$  and  $D_t \neq 0$ , then  $\Psi_8 = M - N$ , where

$$M = \frac{\alpha^r \delta [1 + \ell_n \alpha^{t(n+1)} ((n+1)C_t + 1)]}{C_t^2 \Delta},$$

$$N = \frac{\beta^r \gamma [1 + \ell_n \beta^{t(n+1)} ((n+1)D_t + 1)]}{D_t^2 \Delta}.$$

Let  $\Psi_9$  denote the sum  $\sum_{i=0}^n k^i (i+1) w_{r+ti}(a, b; p, q)$  for any complex number  $k$ .



**Theorem 9.** (a) When  $\Delta = 0$  and  $E_t = 0$ , then  $\Psi_9 = \Psi_7^{(a)}$ .

(b) When  $\Delta = 0$  and  $E_t \neq 0$ , then  $\Psi_9 = \alpha^{r-1} \left[ \frac{M(\gamma r + a\alpha)}{E_t^2} + \frac{N\alpha^t k t \gamma}{E_t^3} \right]$ , where  $M$  and  $N$  are  $(n+1)(\alpha^t k)^{n+2} - (n+2)(\alpha^t k)^{n+1} + 1$  and

$$n(n+1)(\alpha^t k)^{n+2} - 2n(n+2)(\alpha^t k)^{n+1} + (n+1)(n+2)(\alpha^t k)^n - 2.$$

(c) When  $\Delta \neq 0$  and  $E_t = 0$  and  $F_t = 0$ , then  $\Psi_9 = \Psi_7^{(c)}$ .

(d) When  $\Delta \neq 0$ ,  $E_t = 0$  and  $F_t \neq 0$ , then  $\Psi_9$  is equal to

$$\frac{\alpha^r (n+1)(n+2)\delta}{2\Delta} - \frac{\beta^r \gamma ((n+1)(\beta^t k)^{n+2} - (n+2)(\beta^t k)^{n+1} + 1)}{\Delta F_t^2}.$$

(e) When  $\Delta \neq 0$ ,  $E_t \neq 0$  and  $F_t = 0$ , then  $\Psi_9$  is equal to

$$\frac{\alpha^r \delta ((n+1)(\alpha^t k)^{n+2} - (n+2)(\alpha^t k)^{n+1} + 1)}{\Delta E_t^2} - \frac{\beta^r (n+1)(n+2)\gamma}{2\Delta}.$$

(f) When  $\Delta \neq 0$ ,  $E_t \neq 0$  and  $F_t \neq 0$ , then  $\Psi_9 = M - N$ , where

$$M = \frac{\alpha^r \delta [(n+1)(\alpha^t k)^{n+2} - (n+2)(\alpha^t k)^{n+1} + 1]}{E_t^2 \Delta},$$

$$N = \frac{\beta^r \gamma [(n+1)(\beta^t k)^{n+2} - (n+2)(\beta^t k)^{n+1} + 1]}{F_t^2 \Delta}.$$

## References

- [1] Z. Čerin and G. M. Gianella, *Formulas for sums of squares and products of Pell numbers*, Acc. Sc. Torino - Atti Sci. Fis. 140 (2006), 113-122.
- [2] Z. Čerin and G. M. Gianella, *On sums of Pell numbers*, Acc. Sc. Torino - Atti Sci. Fis. 141 (2007), (to appear).
- [3] A. F. Horadam, *Generating Functions for Powers of a Certain Generalized Sequence of Numbers*, Duke. Math. J. 32 (1965), 437-446.
- [4] A. F. Horadam, *Jacobsthal Representation Numbers*, Fib. Quart. 34 (1996), 40-54.
- [5] E. Lucas, *Théorie des Fonctions Numériques Simplement Périodiques*, American Journal of Mathematics 1 (1878), 184-240.
- [6] R. Knott, *Fibonacci numbers and the Golden Section*, <http://www.mcs.surrey.ac.uk/Personal/R.Knott/Fibonacci/fib.html>.
- [7] N. J. A. Sloane, *On-Line Encyclopedia of Integer Sequences*, <http://www.research.att.com/~njas/sequences/>.

KOPERNIKOVA 7, 10010 ZAGREB, CROATIA  
E-mail address: cerin@math.hr

DIPARTIMENTO DI MATEMATICA, UNIVERSITA DI TORINO, ITALY  
E-mail address: gianella@dm.unito.it